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Question: 1 
What is the maximum number of node addresses available on the IP Super net 215.100.16.0/21? 

 
A. 254 
B. 510 
C. 1022 
D. 2046 
E. 4094 

Answer: D 

Question: 2 
What us the responsibility of the Application layer of the OSI model? 

 
A. Error control. 
B. Frame synchronization. 
C. Session administration. 
D. Provide network services. 
E. End-to-end delivery and session multiplexing. 

Answer: D 

Question: 3 
Which layer of the OSI model is responsible for routing? 

 
A. Network  
B. Session  
C. Physical  
D. Transport  
E. Data link  
F. Application 

Answer: A 

Question: 4 
A network administrator was assigned two class C network addresses despite needing a single 
network with 600 nodes. How might the administrator achieve a single, 600 node network? 

 
A. Route the networks. 
B. Bridge the networks. 
C. Subnet the networks. 
D. Super net the networks. 

Answer: D 

Question: 5 
Which two IP address criteria are required for Super netting? (Choose two) 

 
A. Addresses must be consecutive. 
B. The address must be Class B. 
C. The subnet mask must contain at least 20 bits. 
D. The third octet of the first address must be evenly divisible by 2.  
E. The third octet of the first address must be evenly divisible by 23. 

 
Answer: A, D 

 



 

 

 
Question: 6 
Which features are associated with link state routing? (Choose two) 

 
A. Counts hops. 
B. Converges quickly. 
C. Uses a cost metric. 
D. Requires very little configuration. 
E. Recalculates entire routing database before forwarding changes. 

Answer: B, D 

Question: 7 
Which elements form an IPX address used for inter network communication? (Choose three) 

 
A. Subnet mask  
B. Node address  
C. Socket number 
D. Network address 

Answer: B, C, D 

Question: 8 
Select the link state routing protocol. (Choose two) 

 
A. RIP  
B. LAT  
C. SNA  
D. NLSP  
E. RTMP  
F. OSPF 

Answer: D, F 

Question: 9 
Identify the NDS user object created by default. 

 
A. Supervisor 
B. Container 
C. Admin 
D. Template 

Answer: C 

Question: 10 
What are the mandatory property values for a user object? 

 
A. Login name, preferred server. 
B. Login name, last name. 
C. Login name, location. 
D. Login name, workstation type. 

 
Answer: B  


